SN\

MOTOR TECHNICS

BEDIENUNGSANLEITUNG

User manual | Instrukcja obstugi | Navod k pouziti | Manuel d’utilisation | Istruzioni per l‘uso | Manual de instrucciones

WHEEL PAINTING STAND
MSW-RPS- 00

E X P ONDO.DE



\WHN L)\

MSUY

MOTOR TEGHNICS

MSUY

MOTOR TEGHNIGS

INHALT | CONTENT | TRESC | OBSAH | CONTENU | CONTENUTO | CONTENIDO

PRODUKTNAME
PRODUCT NAME
NAZWA PRODUKTU
NAZEV VYROBKU

NOM DU PRODUIT
NOME DEL PRODOTTO
NOMBRE DEL PRODUCTO
MODELL

PRODUCT MODEL
MODEL PRODUKTU
MODEL VYROBKU MSW-RPS-100

MODELE

MODELLO

MODELO

IMPORTEUR

IMPORTER

IMPORTER

DOVOZCE EXPONDO POLSKA SP. Z 0.0. SP. K.
IMPORTATEUR

IMPORTATORE

IMPORTADOR

ADRESSE VON IMPORTEUR
IMPORTER ADDRESS

ADRES IMPORTERA

ADRESA DOVOZCE

ADRESSE DE L'IMPORTATEUR
INDIRIZZO DELL'IMPORTATORE
DIRECCION DEL IMPORTADOR

LACKIERSTANDER

WHEEL PAINTING STAND

STOJAK LAKIERNICZY

LAKOVACI STOJAN

SUPPORT DE PEINTURE

CAVALLETTO PER VERNICIATURA CARROZZERIA
CABALLETE PARA CARROCERIA

UL. NOWY KISIELIN-INNOWACYJNA 7, 66-002 ZIELONA GORA | POLAND, EU

A HINWEIS! | PLEASE NOTE! | UWAGA! | POZOR! | ATTENTION! | IMPORTANTE! | NOTA!

DE

In der vorliegenden Anleitung sind Beispielbilder vorhanden, die von dem tatséchlichen Aussehen das Produkt abweichen
kénnen.

EN

Drawings in this manual are for illustration purposes only and in some details may differ from the actual product.

PL

llustracje w niniejszej instrukcji obstugi maja charakter pogladowy i w niektorych szczegétach moga réznic sie

od rzeczywistego wygladu produktu.

cz

Obrazky v tomto navodu jsou ilustracni. V nékterych detailech se od skutec¢ného vzhledu zafizeni mohou lisit.

FR

Les illustrations contenues dans le présent manuel sont fournies a titre explicatif. Votre appareil peut ne pas étre identique.
IT

Le immagini in questo manuale sono puramente dimostrative per cui i singoli dettagli possono differire dall'aspetto reale
dell'apparecchio.

ES

En este manual se incluyen fotos ilustrativas que podrian no coincidir exactamente con la apariencia real del dispositivo.

TECHNISCHE DATEN | TECHNICAL DATA | DANE TECHNICZNE | TECHNICKE UDAJE | DETAILS TECHNIQUES
DATI TECNICI | DATOS TECNICOS

Lackierstander| Wheel painting stand
Stojak lakierniczy | Lakovaci stojan
Support de peinture | Cavalletto per verniciatura carrozzeria
Caballete para carroceria

Produktname | Product name | Nazwa produktu
Nazev vyrobku | Nom du produit | Nome del prodotto
Nombre del producto

Modell | Product model | Model produktu

Model vyrobku | Modéle | Modello | Modelo IS
Abmessungen | Dimensions | Wymiary | Rozméry

Dimensions | Dimensioni | Dimensiones [mm] 120G
Gewicht | Weight | Ciezar | Hmotnost 23

Poids | Peso| Peso [kg]

ZUSAMMENBAUEN DES PRODUKTS | ASSEMBLING THE EQUIPMENT | SKEADANIE SPRZETU | SKLADANI ZARIZENI
ASSEMBLAGE DU PRODUIT | MONTAGGIO DEL PRODOTTO | MONTAJE DEL PRODUCTO

Rev. 26.11.2020

Rev. 26.11.2020



MSUY MSUY

MOTOR TECHNICS MOTOR TECHNICS
o « NOTES/NOTIZEN
5| c = = 4} e 0§
2 2 S 2 ) g =._0
® =t 8 S g s  s8g
<= S = = = = o;
@ o o a [a) 2 [a) =8 S8%ED
o = = = = =} —  §EyBESE
a = a o x = ] 2282258
Transverse  Rura Pricna . Tubo Barra
i | Quiiehi tube poprzeczna  trubka e e trasversale  transversal 2
2 Stutzen Supports Podpory Podpéry Appuis Supporti Soportes 2
. Handle Rura Trubka Tube de Tubo del Barra del
3 Griffrohr S o R ; 1
tube uchwytu rukojeti poignée manico mango
4 Griff Handle Uchwyt Rukojet’ Support Manico Mango 1
5 Felgenhal- Rim handle Uchwyt do Qrzak na suppon de Porta' ) Soporte 4
ter felg rafek jante cerchioni de llanta
FEGenna il (R e tacznik Spf)ljka Connecteur Connettore Conector
6 . uchwytu drzéku na de support  porta de soporte 4
terverbinder connector 2 X -
felg rafek de jante cerchioni de llanta
Radhalte- Wheel Wspornik Vzpéra Support de  Supporto Soporte
7 . 2
rung support kota kolecka roue dellaruota  de rueda
8 Rad Wheel Koto Klecko Roue Ruota Rueda 2
M16 : < . . Tornillo
9 Schraube M16 bolt Sruba M16  Sroub M16  Vis M16 Vite M16 M16 2
10 ;Jcr;]t;rtl)zg— Washer Podktadka Podlozka Rondelle Rondella Arandela 4
M16 M16 M16 M16 M16 M16
M16
11 Mi6Mutter Mi6nut  Na€K@ ot M16  EcrouM16  DadoMis U 2
M16 M16
M10 Dreh- Pokretto Otocny Manopola  Perilla
12 knopf M10knob 40 knoflik M1 BOUTEN M0 10 M10 13
13 M10%50  M10%50  SrubaM10  SroubM10  Vis M10 Vite M10*  Tornillo A
Schraube screw *50 *50 *50 50 M10 * 50
Verlange- Extension  Ruraprze-  Prodluzova- Tube Tubo di Barra de
14 o p \ . na 4
rungsrohr tube dtuzajaca ci trubka d'extension  prolunga extension

____________________________________________________________________________________________________________________________________________|
Rev. 26.11.2020 Rev. 26.11.2020



MSUY MSUY

MOTOR TEGHNICS MOTOR TEGHNIGS

NOTES/NOTIZEN NOTES/NOTIZEN

_______________________________________________________________________________________________________________________________________________|
Rev. 26.11.2020 Rev. 26.11.2020



M8\

MOTOR TECHNICS

UNSER HAUPTZIEL IST DIE ZUFRIEDENHEIT UNSERER KUNDEN!
BEI FRAGEN KONTAKTIEREN SIE UNS BITTE UNTER:

OUR CUSTOMERS’ SATISFACTION IS OUR MAIN GOAL!
PLEASE CONTACT US WITH QUESTIONS AT:

NASZYM GEOWNYM CELEM JEST SATYSFAKCJA KLIENTOW
W PRZYPADKU PYTAN PROSIMY O KONTAKT Z PRZEDSTAWICIELEM
W DANYM KRAJU:

NASIM HLAVNIM CiLEM JE SPOKOJENOST NASICH ZAKAZNIKU! V PRIPADE OTAZEK
NAS PROSIM KONTAKTUITE NA:

NOTRE BUT PREMIER EST VOTRE SATISFACTION!
POUR TOUTE QUESTION, CONTACTEZ NOUS SUR:

NUESTRO OBJETIVO PRINCIPAL ES LA SATISFACCION DE NUESTROS CLIENTES!
SI TIENE PREGUNTAS, POR FAVOR PONGANSE EN CONTACTO CON NOSTROS EN:

| NOSTRO PRINCIPALE OBIETTIVO E LA SODDISFAZIONE DEI NOSTRI CLIENTI!
PER EVENTUALI DOMANDE PER FAVORE, ClI CONTATTINO SOTTO:

CONTACT

expondo Polska sp.z o.0.sp. k.

ul. Nowy Kisielin — Innowacyjna 7
66-002 Zielona Gora | Poland, EU

e-mail: inffo@expondo.de

expondo.de




